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Objectives:  The student investigates and creates functional relationships.  The student will graph a linear equation in two variables on the coordinate plane, using a table of ordered pairs.
SOL 8.16 Worksheet #1 – Table of Values

Solve each table of values.

1.)  f(x) = x – 1




2.)  f(x) = 3x - 4

	X
	2x – 1
	F(x)

	-2
	
	

	-1
	
	

	0
	
	

	1
	
	

	2
	
	


3.)  f(x) = x + 5                                                              4.)  f(x) = 2 + x

	X
	X + 5
	F(x)

	-4
	
	

	-3
	
	

	-2
	
	

	-1
	
	

	0
	
	


5.)  f(x) = 3x + 1                                                            6.)  f(x) = x - 2

	X
	3x + 1
	F(x)

	3
	
	

	1
	
	

	0
	
	

	2
	
	

	4
	
	


SOL 8.16 Worksheet #2 – Table of Values

8.16 The student will graph a linear equation in two variables on the coordinate plane using a table of values.

I.  Find the value of y when x = 5.

_________1.  y = 8x

_________2. y = x + 3
_________3.  y = x –10

II.  Complete a table of values

1.)



       2.)




3.)

	x
	y=8x

	-1
	

	0
	

	1
	

	2
	


III.  Make your own table of values for each equation

1.)  y = -5x


2.)  y = -x + 2



3.)  y = 2x + 1

IV.  Make a table of values and graph each equation.  Use x = -1, 0, 1, 2 on your table.

1.)  y = x – 2




2.)  y = -x
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3.)  y = 2x – 1





4.)  y = -x + 1
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